
𝜌𝜌

𝜌𝜌 =
𝑚𝑚
V

SI unit =  
g
L = g. L−1

𝜌𝜌 

𝑚𝑚 

V 

 

𝜌𝜌 =
𝑚𝑚
V

𝜌𝜌 = 0.050
0.020

𝜌𝜌 = 2.5 g. L−1

 

𝑚𝑚 = 𝜌𝜌V

𝑚𝑚 = 50 x 0.600

𝑚𝑚 = 30 g
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%w/v =
𝑚𝑚 (g)

V  (mL)  x 100

%w/v 

𝑚𝑚 

V 

 

%w/v =
𝑚𝑚
V  x 100

%w/v = 0.017
75  x 100

%w/v = 0.023

 

%w/v =
𝑚𝑚
V  x 100

𝑚𝑚 = %w/v  x  V
100

𝑚𝑚 = 11  x  750
100

𝑚𝑚 = 83 g
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• 

 

CaCO3 + 2HCl → CaCl2 + CO2 + H2O 

 

𝑛𝑛HCl = cV

𝑛𝑛HCl = 0.50 x 0.050

𝑛𝑛HCl = 0.025 mol

 𝑛𝑛

ratio = 2𝑛𝑛HCl: 1𝑛𝑛CO2

𝑛𝑛CO2 =
𝑛𝑛HCl

2
𝑛𝑛CO2 = 0.025

2
𝑛𝑛CO2 = 0.013 mol (0.0125)

 
𝑛𝑛

mCO2 = 𝑛𝑛CO2MCO2

mCO2 = 0.0125 x 44.01

mCO2 = 0.55 g
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